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Q.1 A) Select the best answer from the given optlons and

i)
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Q.P. Code :19575
[Time: Three Hours] : | [ Marks:100]

Please check whether you have got the right question paper
All questions are compulsory.
All questions have internal choice.
Draw neat diagrams wherever necessary.
Use of simple calculator is permitted.
Figures to the right indicate full marks

M Bl B

ewrite the statement. (AnyTen) 10
Opportunity Cost is the -0 d S NFR S e i
a) Price of a good orservice .~ - -

b) All cut—of-pocket costs oo
¢) Value of the best alten;ﬂtwesacnﬂcm
d) Price that exceeds marlgct pnce KT

If Kommoner’s lower:_ ._the_prlce. of. 4tsp1zzas, -'~_.~..—\«-~~~——~—-.'L'ﬁ, s
a) Demand for Queen’s izzas | increases '\_ g = B

b) Demand for- K;bmmoner s pizeagintreases < ¢ o oot SO
¢) Demand for Queen’s pizzas. decrcases 3 Wy
@) Both bind g = 9 S o S O
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vi)

vii)

viii)

Q.P. Code :19575

Delphi method is @ -----—---.

a) Survey method

b) Statistical method i
¢) Bothaandb F
d) None of the above G L e

For Ford Motor Company, all of the followmg are sources of economws of scaie '
except —-----—----- 5 : i >
a) Mass production techniques used in the manufacturmg of autos

b) Bureaucracy and red tape encountered as the firm becomes larger _

¢) Learning by doing which allows workers to become more productive A
d) Additional spe,cmhsanon madc p0531ble by la;‘ge scale productlon o

The negative slope of the iso- quant is due to _,__-___;____- DA
a) Diminishing margmal rate of techmcal substitunon
b) Zero marginal mtehf%ec__ cal substitution .~ o -
¢) Marginal rate of techmca! subsumtmn 1s gféa!c than one
d) None of the abova BT

When a firm cxpenenoesz ecormmxcs of scaic
a) The long run average cost curve slopes downwaxd
b) The iimg mn\averagc ceSt curvc is vertical Bt
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Q.P. Code :19575

B) Match the concept with its approprlatc defi n1t:om’explanat;onfdescrlptaon Any Ten

Concept

Definition "Explar ation /Description

i) Opportunity cost

a] Cost of an additional batch -

ii)  Graph

i)  Law of supply

b] Value of the best altcmatwc sacnﬁced

c] Delphi method

iv) Perfect competition

d] . Price line

v) Survey method

el Initial cost of buymg an:"-"'

vi) Promotional elasticity of demand

; ﬂjance and quantxty,suppked .:'e\. \

positively related -

vii)  Iso-cost line

X gl Impact of change in advemSmg

¢ cxpcndzture on quantitydcmanded

viii)  Internal diseconomies of s Scalc

h} MBencf ts of ]omt p,roductlon ;

iX) Economies of scope

X) Historical cost SIS £

xi) Incremental cost

-i."-An increase in fhc seale of productwn
o of the fi rm rcsults in r:se in cost per
St RS e e S

xii) ~ Breakeven analysis .~ . -

Lt

S MR _\Dxagrammatlc representatlon ofa

< function: o

------

Q2  AttemptAand B c‘m“” "an.jiilj '
A) What 1s?st _cs;é '
busm < SiC

Quantity Supplied of floppy
discs.

700

900

1100

1300

1500

_\flgt the -demand and supply curves from the table given above.
< _\?Yh\m is the equilibrium price and equilibrium quantity?
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Q.P. Code.:_19575 _

i) At the price of Rs. 200 what is the equilibrium quanmy demanded and quantlty
. supplied?
1v) When pen drives were introduced the demand for floppy dlSCS decreased Does
the new demand curve shift to the left or right of the origi nai demand curve'?

D) Using diagrams explain the causes of changes in dcmand in terms of movément along

and shifts in the demand curve. s SR
Q3 Attempt A and B OR C and D
A) What are the determinants of demand?

B) Given the following data, calculate price elastlclty of Elemand for wheal thn pncc
increases and when price decreascs Sta,te whet‘ier the dmand for wheai is clasu{( or

inelastic.

e \ i TR
=
20

55 auﬁ ihe followmg data, calculate TVC, MC, AFC, AVC and AC

% | 2 3 4 5
i ) 90 110 135 170
OR
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Q.6

Q.6

Q.P. Cod_e. :19575

C) Derive the LAC curve using the short run average cost curves of a firm. W‘hy is it called 08 ;

a planning curve?

D) What is the learning curve? Explain with a diagram.

Attempt A and B OR Write short notes on any four.

A) Explain changes in equilibrium due to:
a) Changes in demand and
b) Changes in supply

Write Short Notes. Any Four
1) Functions and cquatlons i
ii) Steps of demand. fogeca%tmg
iii)  Types of 1soquants
iv) Internal economies of scalz
) Fixed andya@able coSt ol
vi)  Limitati _lis : f‘bréakeven analysxs
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